Worksheets

Worksheet 1

1.

Fill in the blanks.
a. The bigger number from which the smaller number is subtracted is called the

c. The result obtained on subtraction is called the ..................
d. When a number is subtracted from itself, the answeriis ..................
e. When 1 is subtracted from a number, the answer is the .................. of the
number
Subtract by counting backwards.
A. 57 — 5. BT o e e e
b. 62—-3:62 ..ot
C. T8 — 7. T8 e s e e e e
d. 84 —B: B4 i e e e
€.36-4: 36 ..ot i i
Subtract on the number line.
a <————t+—4—"F——+—+—
50 70 90 110
90 -20= i,
b, <—+—+—+—+—+—+—+—>
25 35 45 55
55 -25= . .
Subtract the following 2-digit numbers.
aa T O b. T O ¢ T O d T O e T O
8 5 7 6 5 7 6 4 4 2
-6 3 -4 2 -3 5 -2 5 -3 9

Subtract the following sums and check your answer by addition.
a. T O T O b. T O T O c. T O T O
7 5 8 2 9
-4 3 + -3 8 + -6 8 +

N

Sammy had 48 chocolates. He gave 19 chocolates to his sister. How many chocolates

were left with him?



Worksheet 2

1. Complete the following.
a. 4-1=................. b. 82-0=................. c. 983-10=......cennnn.
d 57-57=.........c.... e. 78—-1=.................
2 Subtract the following.
a. 94-52=................ b. 87-64=................. c. 5-70=......cceennn.
d. 63-63=................. e. 79-39=................
3. Subtract the following 2-digit numbers.
a. T O b. T O ¢ T O d T O e T O
9 5 7 8 6 7 8 6 5 8
-5 4 -3 6 -2 5 -7 9 -4 9

4. Find the actual difference and estimated difference by rounding off numbers to the
nearest tens: 45 — 18.

5. In a garden, there were 96 dahlias. If the gardener cut 47 to decorate the house for
a party, how many dahlias were left?

6. Anju and Manju went to the zoo. They bought ice-creams for ¥28 and popcorn for
% 15. If they gave a 50-rupee note to the vendor, how much money should they get
back?

7. There were 25 children in Section ‘A, 28 children in Section ‘B’ and 29 children
in Section ‘C. How many children were there altogether? If they were going for a
picnic and 60 children fitted in one bus, how many children went in the second
bus?

Answers to Worksheet 1

1. minuend b. subtrahend c. difference d 0
predecessor

(56, 55, 54, 53, 52) = 52 b. (61, 60, 59) =59
(77,76,75,74,73,72,71)=71 d. (83, 82, 81,80,79,78)=78
(35, 34, 33, 32) =32

70 b. 30

22 b. 34 c. 22 d. 39 e. 3

32 b. 44 c. 24

29 chocolates
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Answers to Worksheet 2

1. a. 33 b. 82 c. 83 d. 0 e. 77
2. a. 42 b. 23 c. 25 d. 0 e. 40
3. a. 41 b. 42 c. 42 d. 7 e. 9
4. 27; 30 5. 49 dahlias 6. X7 7. 82 children; 22 children





